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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 865799919 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an implication of Principle of Continuity in Growth

and Development
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Options :
Development goes from womb to tomb
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Development proceeds from general to specific responses
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2. ¢
Development never ceazes
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Starting from a tiny cell, an individual develops in various aspects through
continuous stream of development
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Question Number : 2 Question Id : 865799920 Question Type

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct pairs among the following
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A)  Growth — Quantitative changes
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B) Development — Quantitative and Qualitative changes
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C) Maturation — Natural unfolding of inherited tendencies
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Question Number : 3 Question Id : 865799921 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

This system that is involved in the elimination of waste and destruction of

bacteria reaches its maximum at about 12 vears of age
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Reproductive system
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Question Number : 4 Question Id : 865799922 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Learning to pay attention towards things and persons 1s a developmental task of

this stage of development
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Infancy
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Question Number : 5 Question Id : 865799923 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ragini. a grade 8 student follows the dress code of her school as a convention
without any deviation so as to avold censure by the school authorities. The stage

of moral development of Ragini according to Kohlberg 1s

-

85 #0088 QD‘-‘;??& wond TAB, drddre efisedhe e Aarboditrdd déndod

r

Difwdo Bhore 85 Fdre hihe BED Sopmrdhorr 8o, &6 2b Peedo Toied

Nk

Options :

Stage 4 of Conventional morality
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Stage 3 of Conventional morality
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Stage 5 of Post Conventional morality
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Question Number : 6 Question Id : 865799924 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

The adjustment mechanism that helps an organism to maintain a harmonious

relationship between himself and his environment was called by Piaget as
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Question Number : 7 Question Id : 865799925 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement from the following
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Options :

Interests are related to our wants
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We usually likke the things in which we are interested
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Interests do not help in paying attention
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Interests help in overcoming plateaus in learning
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Question Number : 8 Question Id : 865799926 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Assessment of which of the following aspects reveals the persomality of an
mdividual
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B) Affective
C) Conative

Choosze the correct anawer
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Question Number : 9 Question Id : 865799927 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement among the following relating to

‘adjustment’
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Options :

4.

Adjustment is balancing one’s needs with the circumstances influencing

the needs
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Adjustment starts at birth and goes on t1ll death

E3%EF‘-§;;3 Maﬁé 8 Foleso H0H FHPRDE0H

Adjustment does not cater to demands of soclety
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Question Number : 10 Question Id : 865799928 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is a merit of Observation Method
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Options :
Subjectivity effects the results of observation
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Only external behavipur can be gbserved
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Besults can be verified

$OTeD 5,D580555;

3.¢
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Question Number : 11 Question Id : 865799929 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Learning DOES NOT help in acquisition of
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Options :
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Question Number : 12 Question Id : 865799930 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the learner related factor among the following that determines

learning
£ob PEE° egliaray ?JQO}JOE- ogris Honobotli 52850, rbBoiioll.
Options :

Learner’s goal
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Nature of content
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Question Number : 13 Question Id : 865799931 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Thorndike did NOT give importance to one of the following in learning
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Options :
Instincts
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Question Number : 14 Question Id : 865799932 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In Pavlov's classical conditioning, this gets associated and substituted
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) Stimulus
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B} Response

C) Reward
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Choose the correct answer
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Question Number : 15 Question Id : 865799933 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Reinforcer in Operant Conditioning acts as a
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Question Number : 16 Question Id : 865799934 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a sports tournament we recognize players as belonging to a particular group
based on their dress. The factor of grouping of Gestalt here is

28 for 5SS’ wardD 6 ke srdorr ef VY SErFIS BodSTomr

rBarsn. 85y Nard dsiurs 2880

Options :
Closure

| etelte)

Proximity

2. %
Similarity
3 i"d?va’::"_ﬁ
Simplicity
4w SOLE



Question Number : 17 Question Id : 865799935 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The domains of learning that are involved in classroom learning
E558 18 egl;itos’ as 9% e5Hs Sorres
A) Cognitive

Eéoce;a"lﬁ_ﬁgé

B) Affective
C) Conative

Choose the correct answer
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Question Number : 18 Question Id : 865799936 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

Pranavi with an intention of serving people has chosen medical course. While
pursuing the course due to some experiences she realized that if she becomes an
administrator she can serve people better and started to prepare for civil
services. This shows that motivated behaviour is
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Question Number : 19 Question Id : 865799937 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher was making her students play ‘word chain’ a verbal memory game
where players add a new word to a growing list while recalling all previous
words in order. The memory used in a word chain game is
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Question Number : 20 Question Id : 865799938 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kittu who hived in a country where vehicles drive on the left side moved to a
country where vehicles drive on the right side and felt difficult to shift to the
new rule. This 1s an example of
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Question Number : 21 Question Id : 865799939 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The natural instinects of effective teachers as seen in their spontaneity. rhythm

and appropriateness indicate that teaching is
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Question Number : 22 Question Id : 865799940 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
Identify the areas in which a teacher needs to work for becoming a better
teacher?
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A) Developing self-awareness
Brah-0HPsRE Toirofohstsdo
B) Self-assessment and evaluation
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C) Coping with frustration
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D) Alternate job options
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Choose the correct anawer
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Question Number : 23 Question Id : 865799941 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the first step in enquiry based approach
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Options :
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Question Number : 24 Question Id : 865799942 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

Identify the correct statement with reference to inclusive and integrated

approaches
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Options :
Inclusive approach emphasises the changes 1n the system to enhance

student participation, while the integrated approach focuses on the child to

adjust to the system.
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Integrated approach emphasises the changes in the system to enhance
student participation. while the inclusive approach focuses on the child to
adjust to the system.
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Inclusive and integrated approach 1s one and the same
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Question Number : 25 Question Id : 865799943 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This section of Right of Children to Free and Compulsory Education Act, 2009

states the duty of parent and guardian to admit his or her child to elementary

education in the neighbourhood school
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Question Number : 26 Question Id : 865799944 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following areas does NOT come under co-scholastic areas in

Continuous Comprehensive Evaluation
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Question Number : 27 Question Id : 865799945 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ‘time’ that suggests that the teacher must plan learners’ actual learning

time, keeping in view the overall allotted time available with him
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Question Number : 28 Question Id : 865799946 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following advocated ‘play’ as a means of learning by creating a
play-based curriculum in his kindergarten
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Question Number : 29 Question Id : 865799947 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The leadership style of teacher who 1s sensitive to feelings of her students 1s
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Options :
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Question Number : 30 Question Id : 865799948 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The enactive mode of representation of Bruner 1s similar to this stage of Piaget
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Language I Telugu

Section Id : 86579932
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579950

Question Shuffling Allowed : Yes



Question Id : 865799949 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Sub questions

Question Number : 31 Question Id : 865799950 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 865799951 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 865799952 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 865799953 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 86579951

Question Shuffling Allowed : Yes



Question Id : 865799954 Question Type : COMPREHENSION

Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 865799955 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 36 Question Id : 865799956 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 865799957 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 865799958 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 865799959 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 865799960 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 41 Question Id : 865799961 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 865799962 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
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Question Number : 43 Question Id : 865799963 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 865799964 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 865799965 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 865799966 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 47 Question Id : 865799967 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 865799968 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 865799969 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 865799970 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 51 Question Id : 865799971 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 865799972 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 865799973 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 865799974 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 865799975 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 865799976 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 865799977 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. AL Ly
2. %
3 ¥ S8 omr
. TréE TP
4,

Question Number : 58 Question Id : 865799978 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 865799979 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 865799980 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Language II English
Section Id : 86579933
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26

Number of Questions to be attempted : 26



Section Marks :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

30

0

1
86579953
Yes



Question Id : 865799981 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

India 1s the third largest consumer of energy resources in the world, next
only to the USA and China. It is also the 3 largest importer of crude oil and
41 Jargest importer of LNG in the world. Dependency on imported crude oil and
natural gas was 85 per cent and 53 per cent respectively for the year 2019-20.
The high dependency on imports and over-rehance on the Middle-East and
OPEC has significant implications on the energy security.

Towards strengthening energy security, India's energy diplomacy is
focused on sustaining and promoting energy engagements with the countries
rich in hydrocarbon respurces and also with the prominent international
organisations dealing with energy matters. India's energy diplomacy has been
playing the key role in responsible pricing by the producing countries,
renegotiation of contract for LNG supply. diversification of the sources of crude
and LNG imports as well as maintaining uninterrupted supply of crude o1l and
LPG even after the frequent turmoil in the Middle East region.

Through India's energy diplomacy. the energy cooperation has been
strengthened by elevating from the mere buyer-seller to the level of strategic
partners. Both Saudi Arabia and the UAE are partners in the strategic

pEtI‘Dl €111 reserve programnine.

Sub questions

Question Number : 61 Question Id : 865799982 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the passage about?

Options :

India’s nuclear energy diplomacy
1. %

India’s solar energy diplomacy
2. %



India’s energy diplomacy
3. ¢

India’s environmental diplomacy
4. %

Question Number : 62 Question Id : 865799983 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage. which of the following iz NOT the role of India's energy
diplomacy?
Options :

renegotiation of contract for LNG supply

maintaining interrupted supply of crude oil and LPG due to the frequent
turmoil in the supply region
) ppiy Teg

_ diversification of the sources of crude and LNG imports

responsible pricing by producing countries
4.%

Question Number : 63 Question Id : 865799984 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means “disturbance”.

Options :

diplomacy
L% P :

diversification
strategic

turmeil
4.



Question Number : 64 Question Id : 865799985 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct option with regard to correctness of the following sentences
based on the given passage.
A) India's dependency on imported natural gas and crude oil was 85 per
cent and 53 per cent respectively for the year 2019-20.
B) India is also the 4th largest importer of LNG and 3rd largest importer of
crude o1l 1in the world.
Options :

Only the Sentence A is correct.

Only the Sentence B is correct.
2. ¢

Both the Sentences A and B are correct.
3. %

Both the Sentences A and B are not correct.
4. %

Question Number : 65 Question Id : 865799986 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Based on the passage. which of the following has significant implications on the
India’s energy security?
Options :
India’s over-reliance on the Middle-East and OPEC for crude oil and LPG
1mports

1. ¢

India’s dependency on imports and over-reliance on the USA and China

3 % India’s high dependency on crude o1l and LPG exports

India’s strategic petroleum reserve programme with Saudi Arabia and the

, » USA



Sub-Section Number : 2
Sub-Section Id : 86579954
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 865799987 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The customer two cups of coffee and one cup of tea for his friends.

Choose the appropriate word to complete the sentence.

Options :

ordered about

ordered to

ordered for
3. %

ordered
4,

Question Number : 67 Question Id : 865799988 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The survey reveals that over 80% personal computers are uzed for word
processing.
Chooze the correct word.

Options :

primarily
1. ¢

primarly
2. %

primarely
3. %

primary



Question Number : 68 Question Id : 865799989 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Some people thelr money laundering offences due to the lack of strict

enforcement of the laws.

The option that can complete the sentence 1s

Options :

get over with

1. ®

get through
2. ®

get away with
3.9

get In through
4. %

Question Number : 69 Question Id : 865799990 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These days Mr George 1s living in

Options :
Netherlands

1. %

the Netherlands

a Netherlands
3. %

an Netherlands
4, ®



Question Number : 70 Question Id : 865799991 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The first author along with the last three authors approved the proof

of the article.

Options :
L has

have bheen

Question Number : 71 Question Id : 865799992 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

Chooze the correctly matched one.

Collective Noun Referred to a group of
A} troop (1)  artists or actors
B) swarm (11)  aireraft or ship personnel
C) troupe (i) insects
D) crew (iv)  soldiers
Options :
A-1, B-11, C-11, D-1v
1. #
A-iv, B-m, C-i1. D-n
2. L
A-iv, B-1. C-m. D-11
3. %

A-11, B-1. C-1v, D-m



Question Number : 72 Question Id : 865799993 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Your disciplined hard work will be rewarded by the company.

Identify the correct Active Voice sentence for the given sentence.

Options :

The company will be rewarded vour disciplined hard work.
1. %

The company will reward your disciphned hard work.
2.¢ ' ‘

The company will be rewarding your disciplined hard work.

. The company will rewarded your disciplined hard work.

Question Number : 73 Question Id : 865799994 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An amount of ten billion dollars not enough to satisfy her insatiable
spending spree.
Choose the correct option to complete the sentence.

Options :

were

hawve been



Question Number : 74 Question Id : 865799995 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the part with an error in the given sentence.

The woman asked her servant when will she wash the clothes.

A B C D

Options :

C
1.

Question Number : 75 Question Id : 865799996 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The bonsai plant never grows further, ?

Choose the correct option.
Options :

% don't it

doesn't it
2. ®

3 @ does 1t

do 1t
4. %



Question Number : 76 Question Id : 865799997 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hardly had she arrived it started raining.

Identify the appropriate word to complete the sentence.
Options :

% then

) when

than
3. %

while
4.%

Question Number : 77 Question Id : 865799998 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.

A) Rani asked Sonali how she was.

B) My father asked me what I was doing.
Options :

Only the Sentence A is correct.
Only the Sentence B iz correct.
3@ Both the Sentences A and B are correct.

L% Both the Sentences A and B are not correct.



Question Number : 78 Question Id : 865799999 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The guest presented the host with a N T watch.
Choose the option with the appropriate order of adjectives to complete the
sentence.
Options :
beautiful. silver, Swiss made

1. ¢

) % Swizss made, beautiful. silver
gilver, beautiful, Swiss made

gilver, Swiss made, beautiful

Question Number : 79 Question Id : 8657991000 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The new car is too dear for me, particularly when my purse is empty.
Identify the antonym for the word “dear” in the sentence.
Options :
lavish

1. ®

expensive
2. ®

costly
3. % :

Inexpensive
4,



Question Number : 80 Question Id : 8657991001 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct option with regard to correctness of the following sentences.
A) This necklace is the prettier of the two.
B) The streets in the old city are narrower than the new city.
Options :
Only the Sentence A 1s correct.

1.

Only the Sentence B is correct.
2. %

Both the Sentences A and B are correct.

Both the Sentences A and B are not correct.
4.%

Question Number : 81 Question Id : 8657991002 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Dr Anirudh is an expert in acoustics which 1s the branch of concerned

with the properties of
(Choose the appropriate option to complete sentence.
Options :

phonetics, morpheme

I.

phywsics. sound
2.

medicine, cardiology
3. ®

R® commerce, accounts



Question Number : 82 Question Id : 8657991003 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the most appropriate option when the jumbled words/ phrases are
ordered.

Sonam does./more,/ enjoys /the theatre/than/Sanjiv

Options :

The theatre enjoys Sanjiv more than Sonam does.
1. ®

Sonam does Sanjiv enjoys more than the theatre.

3 % Sonam enjovs the theatre does than Sanjiv more.

4 Sanjiv enjoyvs the theatre more than Sonam does.

Question Number : 83 Question Id : 8657991004 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The defending champion was sufficiently under the weather and decided to pull
out of the tournament.
Choose the meaning of the idiomatic expression “under the weather".

Options :

well-prepared or in high spirits

o shghtly unwell or in low spirits
2.

in good spirits

with fighting spirit
4. %



Question Number : 84 Question Id : 8657991005 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The top car maker consulted its rival for amalgamation.
Identify the synonym for the word ‘amalgamation’.

Options :

separatlon

) % Split

3 % competition

merger
4. ¢

Question Number : 85 Question Id : 8657991006 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
We have different words i different languages to represent the same object.
This language feature 1s known as
Options :
language 1s creative and extendible.

1. %

language 1s arbitrary.
2.

language exhibits displacement.

language is not inherited.
4. %



Question Number : 86 Question Id : 8657991007 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main focus of a lexical syllabus in English language teaching is

Options :

| % sentence structures.

grammar rules.

writing skills and composition.
3. %

v vocabulary and phrases used in real-life communication.
4.

Question Number : 87 Question Id : 8657991008 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This 18 NOT a characteristic of a good test when
Options :

the number of questions and length of answers should mateh the time

glven.

the rubric or instructions help to answer the questions appropriately
choosing the length of answer as well as its quahity.
2. %

o 1t assesses only one aspect of learner abihty.
3. ; :

it represents the full scope of syllabus and what is specified in objectives of

learning.



Question Number : 88 Question Id : 8657991009 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The situational approach acted as a precursor to a more useful teaching method
called
Options :
the Communicative Approach.

1. ¢

the Structural Approach.
2. ®

3 % the Direct Approach.

L% the Grammar Translation Method.

Question Number : 89 Question Id : 8657991010 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

Identify the major discourse targeted for Class X in the Telangana State Board.
Options :

Notice
1. %

Invitation
3 % Profile

Letter
4.



Question Number : 90 Question Id : 8657991011 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The book ‘Exploration in the Functions of Language’ was written by

Options :

M. A. K. Halliday.
1. ¢

Jerome Bruner.
2. %

Shannon Olsen.
3. %

Matthew Arnold.

4. %

Mathematics
Section Id : 86579934
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579955

Question Shuffling Allowed : Yes



Question Number : 91 Question Id : 8657991012 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ravi wants to go to bed at 10.00pm and before that he wants to complete his
homework in six subjects, each requires 35minute time. At what time he should
have to start and complete the homework and go to bed on time?

; G . 5 : 5 G e e e
33 o 10.00 Hoted HHSTrenHhotnam . ) Sofl swoth @8:D «H m@%r&,éﬁ
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zoé) D 6 éﬁ?J’&c?‘ua,&'ﬂchu. wed)s cq%Téé;-_ DE% sodnd @D@ﬁcﬁﬂhm 35 S&nere

=
S8 e?
Options :

. 6.10p.m

. 7.00p.m
2.

3 % 7.30p.m

6.30p.m
4.



Question Number : 92 Question Id : 8657991013 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ages of two persons are in the ratio 5:7. Sixteen years ago their ages are in

the ratio 3:5. The present age (in years) of elder among them 1s
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Options :

56
LY

40
2. %

45
3. %

60
4. %

Question Number : 93 Question Id : 8657991014 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Two poles of height 6m and 14m stand vertically on a ground with a distance of

15m between their foot. Then. the distance (in 111} between their tops 1s

6 & HBcn 14 & &S, Told Hogren 8 Frre H&; 15 & Eros® Jud Derdhre
= 5 - - - - o
&amon. wond, a8 PESe Hi; Srdo (.o8°)

Options :

16
1. %

18
2. %

17
3. ¢

19



Question Number : 94 Question Id : 8657991015 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the sum of squares of two numbers 15 116 and the square of their difference 1s

36. then the product of the two numbers 1s

T Smeee Srmer SeeR o £ Som —md R Y S sy Ty
Cots PJOEIrE Horer Zudo 116 sH8dn ad ‘CQ__}@”:.-:C'O D_!.J.,':C]r 200 36 Q0NaE, @ 0ol o
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Options :

| % 16
) 40
)
3.% 77
)
4, % 28

Question Number : 95 Question Id : 8657991016 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In AABC, 2B = 70° and AB = BC. Then 2C =
AABC &* 2B = 70° %8650 AB = BC won&, 2C =

Options :

60°
1. %
- 50°

O5°
3.

T0F



Question Number : 96 Question Id : 8657991017 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following explains the commutative property?

: v mh Tn Bl A y Y24 o
Bod arIE” 0B 2080 Jor ) AB6nod?

(=9 —n

o]

Options :

11 +(16—-12)=(11+16)-12

1. %
2(3+4)=(2%x3)+(2x4)
2. %
(18 —12) = (12 —18)
3. %
2o )= F+Z)
R

Question Number : 97 Question Id : 8657991018 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

3—9x -3
If - — —, then x =
2x+6
3—9x -3
= Yons, X =
2x+6 2

Options :

1. ® :
2

2. ¢

3. % o
4



Question Number : 98 Question Id : 8657991019 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The length and breadth of a cuboid 15 14 em and 8 cm respectively. If the total

surface area of the cuboid is 708 Sq.cm. then its height (in em ) 1=

r - -

W OB g olad  Bmaret ol o ad & e e e PR v S ST .
a8 BY odo g, EPEY HBcH Senes HHHT 14 Do.db HBAW § Vo.dh. & &Y

=i el
- - -
Ay I SRV P A = - oy e o oy {2, &. b
sl O_j.i.ib_;_ 0RO &e &T__-m"’_, o 708 #5.20.50 @mona, 78 o e ol .e0E) \}
L %] - -

Question Number : 99 Question Id : 8657991020 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Cubic polynomial in the following is
Bod IS 0 wsT0Hh

Options :

x> —x2 44

] ®

o
2.«

Rl I e S
3. %

¥o.—ik 3



Question Number : 100 Question Id : 8657991021 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the radius and height of a cylinder are in the ratio 5:7 and its volume is

= g . . . e 22
14850 cubic m, then its radius (In m) is (use T = = )

A A S
2.5 P20 CODS

L

) aRgardo $0B0in i 5:7 QS Garyom. PR oS80
= i ;.‘., L = - = \;‘ ""E — 22 S\v: gg
14850 5%. 8b. @wond, ord) arrrdo (8. o) (T = — TS o&)

Options :

18
1. ®

Zl
2. %

135
3. %

15



Question Number : 101 Question Id : 8657991022 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A father i3 five times as old as his son. but after 15 years, he will remain only
twice as old as his son. What is the present age of son (in years)?

2.8 o0& 8% BtO5H Soi) olh Ot 1BaRD, 520 15 Soddore domd eEd S5dbid; StHH
Lo

Options :

15
| %

20
2. %

5
3.¢

10
4. %

Question Number : 102 Question Id : 8657991023 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A:B=3:4 and B:C=5:7 then A:B:C=
A:B=3:4 %8050 B:C=5:7 wond. A:B:.C=

Options :



Question Number : 103 Question Id : 8657991024 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which is NOT a prime number in the following?

DD&' al® ’:'q"r"d -\'f} éw o P_Oq_. g“ﬁ:ln

Options :

101
1. ®

141
2. ¢

113
3. %

131
4. %

Question Number : 104 Question Id : 8657991025 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
330 oranges are divided among 50 boys and girls in a class so that each boy gets

8 oranges and each girl gets 6 oranges. The number of boys 1n the class 1s



Question Number : 105 Question Id : 8657991026 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
On dividing a number by 5, we get 3 as a remainder. What will be the

remainder when the cube of that number 1s divided by 5?

o r o
ol At R T o = o s e Aot vy s ke i P ST . P~ L [P P
2.5 mogel 3 & g0 o), 20051 3 Tel0 820000, B 0F {:‘L!_u\_,gr adelPely D & ZPN0wleadylar,

]

Question Number : 106 Question Id : 8657991027 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

b
Ifa—b =12 and ab = 6. then the value of %—|—— i

a
a—b=125%8cwab =6 @"%_;___

Options :

22
] ®

28
2. %
3. % 24

26

4.9



Question Number : 107 Question Id : 8657991028 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Area (in sq.cm.) of the greatest circle inscribed inside a square of side 28cm is
22

(use m = L=z )

22
(T = = &52808)
Options :
L 6l6
308
2. %
3 % 154
4% 196

Question Number : 108 Question Id : 8657991029 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The coordinates of point of intersection of Iines x = —landy = —11s
x = —1 5800 y = —1 Spe Gng, 9oid Hothsd) AdrdHsren
Options :
(-1.0)

1. ®

©.-1)

2. %

(—1-1)

3.¢

(0,0)
4. %



Question Number : 109 Question Id : 8657991030 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

For an even natural number m < 10, the product of m(m + 2)(m + 4) 1s always

divisible by

JET B8 e Soyy m<10 £H m(m+2)(m+4) o ezo JuHye 628"

Ao atod

Options :

L%/
2. % O
1% 0

3
4 ¢

Question Number : 110 Question Id : 8657991031 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of three numbers 1z 87 and they are in the ratio 4:9:16. Then, the

product of first and third numbers 1s

2l
g
28
G5,
£
:-I'_Jy
&

D Hogre dwdo 87 Hubdin o) 4:9:16 8 éTmon. wow

snBcin £Srds Hogge emo

o8

Options :

|y 324
5 o 376
L u 1296

2883



Question Number : 111 Question Id : 8657991032 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The sum of numbers between 100 and 200 which are divisible by 7 1s
iy by £ P s
100 58050 2000 595;8° 7 T griiodat Hogre Sngsn

Options :

1897
1.

1981
2. %

2107
3.¢¥

2093
4. %

Question Number : 112 Question Id : 8657991033 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The median of first ten prime numbers 1s
S H6 BEES DHogge diso

Options :

3
L& 12

11
2. %

10
3. %

13



Question Number : 113 Question Id : 8657991034 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The sum of roots of the equation x2 —5x+6=0i1s

5858500 X2 —5x + 6 =0 Qg durere &

I, G,

Options :

e
1. *

6
2. %

—~B
3. %

5
4. ¥

Question Number : 114 Question Id : 8657991035 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If V3™ = 243, thenn =

V3" = 243 evon@, 1 =
Options :

10
1. ¢

i



Question Number : 115 Question Id : 8657991036 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

A teacher has asked the students to construct a bar graph for the marks
obtained 1n various subjects in the annual examination. The academic standard

that can be assessed thmugh this problem 1s:

)

B8 %6ZE° DN $PHes® FobdS drdyed $in; Ter Higo BB 8 ST
ol

drsesd §'oetd. e’a mﬁ:npa TP H0H053 DD JEP; PEireso:

Options :

Visualisation and Representation

o 5 -

85338888 s0B0IN EREIG;0

1.

Reasoning and proof

S":'DETE_M L,cu .,.-,"3' 5‘_06(5393 4 layl D::.-DL)G.;_H.:'C'
2. ®

Problem solving

238083y Elats)
3. %

Understanding

L % BHTETS



Question Number : 116 Question Id : 8657991037 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the contributions of Srinivasa Ramanujan, a mathematician, from the
following:

Bob e ol Hesd T gertd e Trsirims oD Whodol:

A} Discussing positive and negative numbers in Algebra

el

NestieBEos® Hard 8 Hbdin anerds Sogod $8joito
B) Mock theta functions
578 Ser HoED
C) Introducing the concept of highly composite numbers
B0 Hoding Hoge T HBSEho Taho
D) Preparation of sine tables
R H%e Saird
Chooze the correct answer
$8% SErrard) JoihEiod.
Options :
A & Bonly
A & Bsirgd

1. %

B &' C Gnly

B & C sir@ad
2.¢

A& Conly
J A& CrEa

A & Donly

A& DirEs
4. %



Question Number : 117 Question Id : 8657991038 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the following concepts in order of difficulty and conceptual development
perspective for teaching in a spiral approach.

£ob PHRded M8 orsed Aprdod” G HodteS denre 8 588 HBdn gridordE

8 5:%-80 srdorr Edod® ool
el = .

[
08 =
'?:‘-JLP&_-EJQ

A) Introduction of Algebraic Expressions
Ddah Sirare HBB6Do

B} Linear Equations in two variables
Both3tordhed® 85ah H8sdmren

C) Linear Equations in one variable
DE35T8E° Bhoh HEoESeren

D) Factorization of quadratic expressions

Choose the correct answer
S0 SErEard) JohEtod.
Options :

B—-A—->C—-D
1. ®

C—-B—=A—-=D

D—-C—=B—-A

A—-C—=B—-=D
4.



Question Number : 118 Question Id : 8657991039 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the programs that are organised by the mathematics club in schools
among the following:

-

g 3 oR T = r P = = IR oy # Sy 4
Bob ar8&E, rdared’ KB gd Azarod sefyBsired fhBodob:

D}

) Collecting mathematical models and material

Hedes Hooraren B SPSHfD BEBodEo
B) Conducting seminars with students
&-@;&E@E“ 2 Aderoito

C) Preparing students for competitive exams in mathematics

)

Hedsod® 8 HBKeS drsthes Bo Babio

D) Organising a bulletin board

T o TP A = Ao
en@ea 57 Jferodtio

Choose the correct answer
$0% SErrard) doiHEos.
Options :
AB &.’ C Ulﬂy

A B & Csrgadd

1. %
B. C & D only
B, C & D irgsd
2. %
A, B& Donly
A B & Dir@s
3. %

L ABC&D



Question Number : 119 Question Id : 8657991040 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The teaching aid that 1s unrelated to two dimensions among the following:
8ob ar8&® Befndiah SETFHE0mRE Bolib:
Options :
Flashcards

= =
arEEeGen

M)

1. %

Posters
8 :56en
2. % g
Cubic shapes
AP SITRED
3.¢
Charts

= -
AR TY
&

4.%



Question Number : 120 Question Id : 8657991041 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

Identify the correct matching pair from the following with regard to the

teaching approach of mathematics:

S5 IPPDE Sowobod) Bob PAE® HBENS wEd HBoKod:

Constructive approach: Social interaction helps in learning, according to
Vvgotsky.

Aoe P S Ardo: BRE HBo EPRS HEGT ST, wgHsos”
dePclaithdob.

Inductive approach: Proceeds from abstract to concrete.

@iFd Aprdo: wihirdo ol drdandd TP,

Deductive approach: Proceeds from concrete to abstract

0% rdo: drdo Dod ©rEnds FEerD.

Analytic method: Proceeds from the conclusion to the given data in
proving the theorems

L& ; alin e s ‘B P, I o iz : ol DN
AT PToo il B 93@»3_'%: atrosrel Jdrnoiitod” Aol Dol SEodds FRariD.

Choose the correct answer

Options :

3.¢

B & C only
B & CirgEs

A &' D 01115'
A & D Srgs

A & Conly
A& Csmpdd



Science

Section Id : 86579935
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579956
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 8657991042 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Only liquids exhibit surface tension because
w0 Baren SPED SodSE5 HE8ron Jothsod
Options :
liquids have no fixed volume

C en t&.’t}' -CQJ"‘.J&_.'D"_‘IJJ Jo-':\:; :u._Jlgl ﬁOlf{:.:ﬁ
1. %

gases have strong mtermolecular forces

?ﬁﬁ:“i‘;ﬁ;) £©e scq__Ln ol NtsTrED %‘-G a0 B58A &oton
2. %

liquids have high density

= ey s A - x T AR -
Baren 855 Jroiidn 50 GotPon

el

azes do not have free surfaces
g

4 o 0 2, £
srdinded Nt Godderan Golkd
J
4.



Question Number : 122 Question Id : 8657991043 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Telangana State. the Great Bear {S::Lptlmriahi} 18

Be0MPes TR0 R 25 (%9538 shoeo)

Options :
visible in North direction

&85 8IS E2%H0d

1. v
visible in South direction
Dé{-u EJ'Z.»’”"J éﬂJﬂr:l}G
2. ®
visible in Equatorial region
» '“’q""_“(?) 6-:5_' ._DC‘-"\’} &° 5 ob
3. -

visible in Antarctic Circle

f:-?o"—::ﬂ&éef% Sothod” 5Dknob



Question Number : 123 Question Id : 8657991044 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The typical angle between any two mirrors used in a classic kaleidoscope is (in

degrees|
Foptrdd SRR LgrE" &0EPACT 57 Cotd AYere od); ot arprdes

S0 (Bfind’)

Options :

60
LY

45
2. %

30
3. %

90



Question Number : 124 Question Id
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: 8657991045 Question Type

Tuning fork iz invented by

i - s T ] -
£ 1Botion SR e

Options :

Alexander Graham Bell

o8moib miro 86

1. ®
John Tyndall
s Soted
2. ®
Thomas Alva Edizon
TPt wer: JEDE
3. %

John Shore

= AR
&) b

£
om

4.

: MCQ Option Shuffling : Yes Display Question



Question Number : 125 Question Id : 8657991046 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct explanation related to heat and temperature.
e{sqo SoBdin ﬁﬁ:hrﬁéz Rosofoi) $88 Db DBool.
Options :

Heat determines the direction of temperature flow. while temperature 1s

the energy in motion.

ticqo Ol 6%?‘1 & arar BEN ?JQO::E(;-_:_GEJ 2ond Goghrﬁ wRd Sebod &y 8.

“

1. %
Temperature is the total energy of a system. while heat 15 a measure of
how cold 1t 1s.
6558 ob 2.8 HPD g ango I8, wond Gho VB Jeiido SHE Gng)
Sos
2. %
emperature determines the direction of heat (energy ) flow, whereas hea
Temperature det the direct f heat ov ) fl 1 heat
is the energy that flows.
eafis & @20 63 (¥8) o HFD AonRob. won o) 6310 pSirod ¥8.
3. (. N

Heat and temperature are the same physical quantities expressed in
different units.

8 Fras orden.

o3

630 86 f%é’g’;hié 03D DG, Hiirered® $5580508%
4, ®



Question Number : 126 Question Id : 8657991047 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The motion of a body 1z zaid to be uniform when

.

ot . oL Y TV ; "
O_:"u.Jg_;_ HoRo 5008 mT Solif) c:..q.g,.j\;xu @ofTrnodd

a7

o W ALar
T O f«..l.:'

eh

&

Options :

its veloeity is constant throughout the motion.

-

) o H$0odKod w0 BloMP &,

1. ¢

its speed increases uniformly with time.
P &itio SPe08” Hairdorr DK
2. %

it covers more distance in less time.

3. %

its acceleration is increasing at a constant rate.

L x T &8m0 BEDS Oend® DSrDEK0.



Question Number : 127 Question Id : 8657991048 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the true statement about a magnetic field from the following.

Sob ar8iS° edhar 08 5o B0 JEFH aFyPrd DBoPol.

Options :
It exists only in two dimensions.
ﬁ =

L @ Brabedhore Ar@sh totnob.
1.

It 1s confined to the surface of the magnet.

ab edidrodo i) 6888 HBMED Gotnod.

2. ®
It 15 a three-dimensional region around a magnet.
36 echarofo htr 68 BIhach prodo.

3 v 5 o al © e

It exists only between the poles of a magnet.

26 96D 080 GINE, HyTre Hol; STED Gotnod.



Question Number : 128 Question Id : 8657991049 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the current passing through a human body 1s 10 mA, then the effect
may be:

PR €800 howe HHireT HhrE @arso 10 mA wond, HirdHo ser sodsiihy:

Options :
Can be felt
. perard, f8odieo
1. h

Causes involuntary muscle contractions

Botitre @088 HoB ired 2 0minidod
2.

Is painful

Causes loss of muscle control
SotiTren ohoes ?éﬁ}é@?&% Semsnaiuod

4. %



Question Number : 129 Question Id : 8657991050 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Precipitate 1s a/an:
Options :
A homogeneous mixture where one substance 1s dissolved in another

&8 Brdo HEE s EBAEGD Jerdch Mo

A gaseous product released during a chemical reaction

Pt oL S EE o Sin NN Do
BerdiResds 2280 Hdchos Atecl; P 6850

2. ®
An inspluble substance formed in a chemical reaction
sEvclevwsEntelysilialollatil=teTa Y émgo

3. ¢

A liquid that remains after evaporation

gado dued DbAD & (ko

o

F.'l



Question Number : 130 Question Id : 8657991051 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The material used in non-stick copltware 1s;

T '."I:‘u—

18 Hod i AS” 40T Hordo:

by

Options :

Polyethylene

FDBDH
1. ®
PTFE (Polytetrafluorcethylene
PTFE (srd8¢rs86 2608
2. ¢
PVC (Polyvinyl chloride)
C (Zedh o3& =P5E
3 % PV C (c-, 2 olodD S_HQL,)

Balkelite

=
= gEﬁ‘ﬁ

o

R

4. %



Question Number : 131 Question Id : 8657991052 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the material which DOES NOT form a flame among the following:
Sob TBEE Hrod GBS STPoes), thBook:

Options :

1. #®

Magnesium

=, &8
-:H.H.fﬂc*hc-_;v 0o

Wick of kergsene stove
éB’“M: -::-:-:.» j::é g‘éﬁ

3. % =
Charecoal

4.9



Question Number : 132 Question Id : 8657991053 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following scientists with their respective laws and choose the correct

answer

A T LB \ ot o e g ur ot . g
So0b TRaden 08 Nonofoild Adhired” sd DR H0H Harrard) dotiS ol
=== . .

Scientist Law
a‘éfpé N0
A) John Dobereiner i) Periodic Law
R eutea sl 8505 Dobivo
B) John Newland 1) Law of Triads
ePR Wm0l &5 Dohdoo
C) Dimitri Mendaleev 1) Modern Periodic Law
En& HhodDs BhHRE eR0H Jakdo
D) Henry Mosley iv) Law of QOctaves
R0 T 38 Achho

L=

Options :

A—1i, B, C—iv, D-in

1. ®

A—1i, B—iv, C—i, D—in
2.

A-m, B-1n, C, D—iv
3. %

A—iv, B—i, C—n. D-1
4.%



Question Number : 133 Question Id : 8657991054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following

Sob artdd 23850 08

A} Prakarvotic cell 1)  Enchinodermata
éo@ésﬁ?iﬁ;éﬁo ?:@55?6 167

B) Pseudo coelom 1) Monera
Dogre; 88 Hirdo ardoe

C) Water vascular system 1ii) Arthropoda

woEsses 25553 Claitles
D) Open circulatory system iv) Nematoda
D8 BEEHESes K58 b
Choose the correct answer
¥B8 HErraed) JoiH8old
Options :
A-i1; B-iv; C-1; D-1m1
1.

A=1: B-1; C=1v; D-m

A-n: B-1v; C-m1; D
3. %

A-1v; B-1; C-11; D-m1
4. ®



Question Number : 134 Question Id : 8657991055 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Two chambered Heart 1s found in this organism
Gotd fithen 50 oFyticho (00T &8 Bob £06° S¥athiob.
Options :
Crocodile
)

1. %

Frog



Question Number : 135 Question Id : 8657991056 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
Identify the correct pair of similar group of organisms belongs to same
kingdom
2.8 $R8 BodS dde 373 28 hBoSob.

Options :

Chlamydomonas and Aspergillus

SEREAFRR HBdn &6 ek
I
Amoeba and Vorticella
edher SHbdn HbRer
2. ¥ =
Oedogonium and cyclops
EER"0dbo HBdn Jseh,
3. %

Spirogyra and Rhizopus

)5 o> $0Ba BEHR
4. % =



Question Number : 136 Question Id : 8657991057 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The disease which spreads through polluted water and food 1s
Zenay@ahd Ot HBoin Benti® e:Flo Tr-Te ams0s agh
Options :

Tuberculosis and polio

g0D HBan PO
1. %
Smallpox and swine flue
S00) HBC R &P
2. % N
Cholera and Typhoid
3 @ Se0e 5980 Baronk

Measles and mumps

x » e - o
&ép B 13858 &80



Question Number : 137 Question Id : 8657991058 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The plants or animals species of particular area /region /country is called

n
G

i,
[
G
0,
Fh
il
a

R e e = . i o e o
o/@rodo /[GEos dn8)en BIP w0 P@om Gob Dorr HenalPth

Options :
Endemic species

JoHENE emeiven
1.+

Endangered species

2. Q = \ c,:_

Extinct species

wosBotsrok riven
3. %

Invasive Alien species

DBAch v e
4. %



Question Number : 138 Question Id : 8657991059 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ‘recyclers’ in Ecosystem are
83388 306" YR Brrten

Options :

Primary consumers

= LA " 5 o
..9_:“@5_::. BRIl p Tl e vl

1. %
Producers
& s
2. % -
Decomposers

o) i‘_j_; dgedoen
3.¢

Carnivores

: MCQ Option Shuffling : Yes Display Question



Question Number : 139 Question Id : 8657991060 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 13 NOT a pesticide?
Eob = &t L5080 5206 D
Options :

Benzene Hexachloride

FoBR 550k
1. %
Dichloro diphenyl trichloro ethane
_-._"___'.__1_“: 5 Eq."u'?_.- |ﬂ 5 O éﬂa T
2. %
Endosulfan
ol Jem®
3. %

2-4 Dichloro phenoxy acetic acid
p = —1?‘3”‘"”"590- 8, B85 eho

4.9

: MCQ Option Shuffling : Yes Display Question



Question Number : 140 Question Id : 8657991061 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the essential parts of flower

08 @HE errreD HBoob.
Options :

Calyx and corolla

088 S HHbdin «508 D@
= :u
1. ®
Stamen and pistil
S5Tr5E HBoTn woXEEo
2.
Thalamus and pedicel
Jalrido sHbd Py oo
3. %



Question Number : 141 Question Id : 8657991062 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1z modified under ground stem?
80d BS Srarodbo Bobd &rEidsroto

Options :

Sweet potato

1. %
Carrot

0. % 5'95-3;
Raddish
Sneod

3. % '
Potato

20T thos



Question Number : 142 Question Id : 8657991063 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of daughter cells formed from a single parent cell after meotic
division

o TS v £ ot . 2wt TSy U SV R g
2.8 Srd-Sso ol 50080 Ddfmarnodtio OOC e Smre Do
ol el o o~ gl

Options :
Two

Cotd

2.



Question Number : 143 Question Id : 8657991064 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following.

Lo e 2808 06.

A) Ronald Ross 1}  Nucleus
;”3?,3_5 o Sois0
B) Robert Hook ii) Malaria
oref S8 ETGla eV
C) Robert Brown iii) Pencillin
Tob @' DO
D)  Alexender Flemming i) Cell
@8rroib H&oof Zea0

ChDDSE the correct answer

[T =T S oy e -1
AT wc-.J"‘EDEPMG-‘_ OIS 06

Options :
A1 Bav; C—1; D-m
1.

A-n; B-1; C-mn; Dav
2. ®

A-n: Biv: C-m; D1

A-iv: Ba: C-m: D-n
4. %



Question Number : 144 Question Id : 8657991065 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the process that is NOT related /involved in obtaining wool from
sheep to produce fabric.
B of 6010 25808 B¥ed Bonodoid HEDHD HloXos.
Options :
Shearing
£80R

Scouring

F_j'n-‘gBCJE
2. %

Stifling

Bleaching

o
FR

JOI

=

163

4. %



Question Number : 145 Question Id : 8657991066 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Einstein stated. “In nature everywhere we come across pre-established

harmonies.” This reflects which value of science?

|.'\-/ 4‘ o o B £k <
8:1\."\'\.!’-\4. g tQ % [?Iléﬁ'-h’g)_"" Sodo Jonothmre o..-fj'wmm o -:ﬁ.,tkﬂ” Ly
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-
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1.
Cultural value
PO B8 Dend

2. %
Disciplinary value
Bsdger Dendd

3. %

Moral value



Question Number : 146 Question Id : 8657991067 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks :

Which of the following examples best illustrates Project Method?
& 806 eTrirSned® O pHiey DEBI BT HHB508?
Options :
Students prepare a chart on pollution after reading the textbook.

FEHHEN SHS SUo8 IepBer oo o8 TED S0P D

1. %
Students take part in a teacher-led discussion on environmental issues.
Drrgen HooHtes e erTdne 8808° 88 FFotrd.

2. %
Students follow a step-by-step lab manual to test water samples for
1mpurities.
e B0 A8 SrTred HBEoNmRE duren $¥oird HariTe
SPRHE D ©HRBTRH

3. %

Students collaboratively design and build a model of a sustainable city
to address real-life environmental challenges.
Qes £ HoedSes PSEVEEohNY 5’36-.«:%80?311%5. ol &&M é.e,l?a:.ﬂ“ Tal m%bﬁ_ué BDido

Gy Hsraead SrErobard.
4. ¢



Question Number : 147 Question Id : 8657991068 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify which 1s NOT a rating scale?
Bob arB&°, 5B0R S SR8 (DBoPNol?
Options :
Descriptive Scale

DEBeP 85 By

1. %
Multiple Choice Scale
e d D Ba F

5 o oY 0S r\,&ﬂ'
Graphic Scale
o5

3, % SRR

Numerical Scale



Question Number : 148 Question Id : 8657991069 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A student 1n his primary school has learnt different forms of life like animals
and plants exist on earth. In his secondary level class, based on this
knowledge, he learns about more varieties of plants and animals when he
studies about classification of life forms. According to Piaget, this is

S QEF;EJ% GrEing riTed”, D modden $baD dngen Hof DG Ssve

E‘P.M

3en G900 Senid. 8 &Pdo 888 83 DBob 3 ~pom ESnded® | £5 Srdre
%8586 19809 ;0080 ToR D Bws;e

o
0D BeninSiHKos® EHAPNHRCH. 88 HArE Heeto

Sy ;
Options :
Assimilation
rodsteso
1.
Schema
oo
v:\.-g'm'u
2. ®
Accommodation
@i Deago
3. %
Equilibrium

HsnEe ?gs‘.‘é



Question Number : 149 Question Id : 8657991070 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
In class VII a science teacher, divided her students into groups and asked
them to dissect a flower and i1dentify various parts in it and helps them learn
about different parts of a flower. The teacher adopted this approach of

teaching science.

DS KBS S DG e HBoBHY 580,

£
i
o
i
e
pi
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=}
%

o b

g i Iy » ] é :
Sifabo Tod. BEE B, TS Y FOIE” & ITTY 65

Options :
Teacher centered approach

o 1 .} £ " .c
&R0 SoBE 8 drrdo

C

1. %
Subject centered approach
DACH B0 8 derdo
2. ® '
Constructivist approach
TR 8 ApPNo
3. ¢

Problem solving approach

Fﬁéﬂ).—ﬂ’-‘; éﬁ.ﬂ’ﬁafﬁ DeHo
4. %



Question Number : 150 Question Id : 8657991071 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 138 NOT a guiding principle suggested by NCF 2005 for

Curriculum Development?

Sob et & Herds 85,8 S50 NCF 2005 &x00b Sr5ans dro so08

2672

f

Options :

1. %

4.%

enriching the curriculum so that it goes bevond textbooks

e .a #

5@y Shod) -:._:."37_'3"0-'31""_,ri sodondo ddbtio

ensuring that learning does not shift away from rote methods

egirado 5_.'55 é; CSE&)E_, S0l Srdkhore drdEisdo

connecting knowledge to life ogutside the school

T

Hare: Senmd 20008 &3 "';'__mo'“ 9508 -'OG:JPJO?D[_\O

?E]J

making examinations more flexible and integrating them with

classroom life

5050 HHbod HTForr Sl Ko LB BN S51E 18 D808



